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Jor the questions
. &oe AT 0% Tewh AR S ¢ 1x5=5
Choose . the correct .ans‘wer from the

following :

(a) M€ (=] 3 &bt Rt |
Glass is a mixture of
(i) s RS

non-metallic silicate
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(b)

()

(2)

(ii) A Rffces
metallic silicate

(iii) o< <fSCHe
metallic_ acetate

(iv) ST «fSCes

non-metallic acetate

Fullerene is composed of
(i) aifd= foos wm
grapliene sheet
(i) @R T«
benzene
(iii) TS TR
" carbide
(iv) GRS

nitride

. @ f. t==
PPC stands for

) e wneE fors-

Portland Plaster Cement
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(d)

(e)

(3)

(i) *'oee FwEEl Bors
Portland Possalana Cement

(iii) 'broe R fBord
Portland Primary Cement

(iv) *'b=e fmR Bord
Portland Polymer Cement

b1 comefbian AR BT (T’
The example of a straight fertilizer is
(i) TR '
urea ,
(ii) ~BfRE T
potassium phosphate

(iii) G FFD
nitrophosphate

(iv) SRV FRCHD
diammonium phosphate

W@W@QWWN?

Which of the following batteries is used .
for aircraft?

i) Ee-afte R
Lead-acid battery

24P/1035 ( Turn Over)



(4)

(i) FeFa-wigat @R
Nickel-iron battery
(iii) ST W O
Dry cell battery

(iv) feoer wHiRe @B
Silver oxide battery

z: . UnNir—I

. oS il 2R Bes A 2x4=8
Answer the following questions :
(o) o1y P AR R a1
Write the chemical properties: of glass.
. (b) TOERR A 7 WR B IR B
What is sodalime glass? Write one use
of it.

(c) TIPS mey oo Rew B

Write  the composition of borosilicate
glass.

© L (d) O ae TR @A W IRAR B Re2

What are the colouring agents used in
coloured glass?
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(5)
3. oo fm 2ueRS T fim (R coien §6t) = 3x2=6
Answer the following questions (any two) :

(@) cFreERe Bafe 37 TR < WA B
2+1=3

What is nanoox1de ceramic? Write one
use of it. -

(b) TR TR ES-AnAR Rgw B |

Write the manufacturing process of
carbon fibres. «

(© cﬁﬁwﬁwgﬁs? cﬁﬁwﬁ SRS TR
' 2+1=3

What are semiconductors?. Write the
example of semiconducting oxides.

4. By &t R 2 4'Fee Brrs G 2T INT?

1+4=5
What is setting of cement? How are Portland
cement manufactured?
UNIT—II
5. wors fim e Teq fam : 2x2=4

Answer the following questions :

() T o 2 «or T foam

What is mixed fertilizer? Give one
example.
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(6) N (7))

(b) R FEIHT ES-2A Racw

_ (e) mﬁﬁw%q&%ﬁ?aﬁmﬁm
Wfite " about - the: ~manufacture  of ..

.What is fire-retardant paint? Give one

ammonium phosphate. example.
6. YR GANTEEET SRS o1 o Foran 3
UNIT—IV
Write a note on normal superphosphate. . _ o
. .8, (a) wwcﬂqmmmmm
| T ‘ 2
o UNITTIH - 7 Explain the difference between primary
7. T — s Tet F (R o W) ¢ 2x4=8 and secondary cells with examples.

Answ;"the following questions (any four) :

(@) c%% Fes aRer B2 B fan

What are binders in paint industry?
Write example.

(b) ‘T IR RIIR B 2
Write the advantages of fuel cell.

UNIT—V
(b) R 7 SwrgeR TS I 90

9. TS MY ©°1 S 53 (ot foran (R czoeen FofB) :
.What are thinners? Explain with

3x3=9
example. . .
Write short notes_on the following (any

(c) P eaFR FRyrnE B B2 three) :

What are the advantages of surface ' (a) @i Towrs

coating? : : " : A

Argon treatment

(d) Precrs I & @2 |

What do you mean by pigment? (b) H-CHIR I MG

‘ | Non-ferrous alloys
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(8)

(o) To-amicems

Demanganization

(d) Tz S
Stainless steel

10. <& 3% o7 ] : 1
Fill in the blank :
et widge % SIZIT YT |
Pig iron contains .

% iron.

% % K
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